


9. 376 × 17 = 
 

 (A)  3 022 (B) 3 008 (C) 6 392 (D) 6 406 
 

10. Which number is 27 less than 10 000? 

  

 (A) 973 (B) 1 973 (C) 9 073 (D) 9 973 
 

11. 4 × 17 × 25 = 
 

 (A) 1 700 (B) 170 (C) 93 (D) 46 
 

12. How many minutes are there between 11:40 pm and 1:15 am the 

next day? 
  

 (A) 35 (B) 75 (C) 80 (D) 95  
 

13. 2
3

5
+

4

5
= 

 

 (A) 3
7

10
 (B) 3

2

5
 (C) 2

7

10
 (D) 2

2

5
 

 

14. In a triangle one angle is 70 and another is 80. What type of 

triangle must it be? 
 

 (A)  equilateral  (B) scalene    

 (C) right angled (D) isosceles 
 

15. 20% of $12 is: 
 

(A) $0.24 (B) $0.60 (C) $2.40 (D) $6.00 

 

SECTION B 

Each correct answer in this section is worth 3 marks. 

 

16. The class made a large number line in the playground at school. 

Isaac stood at 3 and Mia stood at −1. Mia was midway between 

Isaac and Raj.  

Raj was standing at: 
 

 (A) −5 (B) −4 (C) 1 (D) 7 

 

17. The point (3, 2) is shown on the number plane. Which of the 

following correctly explains how to move from (3, 2) to (−1,−3)? 

 
 

 (A) left 2, down 4  (B) left 4, down 3  

 (C) left 3, down 5  (D) left 4, down 5 

       

18. A milkshake costs $5 and an ice-block costs $3. 

Tahlia buys 1 milkshake and 2 ice-blocks. She pays with a $20 note. 

Which of the following shows the change that Tahlia receives? 
 

 (A) 20 − 5 + 2 × 3 (B) 20 − (5 + 2 × 3)  

(C) 20 − (5 + 2) × 3 (D) 20 − 5 + (2 × 3) 
 

19. The number 51 can be written as (9 × 5) + (3 × 2). 
How many ways are there of writing 51 as ( × 5) + ( × 2) where 

 and  are positive whole numbers? 
 

 (A) 5 (B) 4 (C) 3 (D) 1 
 

20. Lachlan has $7.20. The money is made up of 50 cent, 20 cent and 10 

cent coins only. He has the same number of each type of coin. How 

many 20 cent coins does he have? 
 

 (A) 36 (B) 11 (C) 9 (D)  1 



21. (8.6 + 3.5) × 2 = 
 

 (A) 14.1 (B) 15.6 (C) 22.2 (D) 24.2 

 

22. Two rectangles are joined together as shown in the diagram, with 

all lengths given in metres (m). What is the perimeter of the shape? 

   
 

 (A) 14 m (B) 20 m (C) 24 m (D) 84 m 

 

23. Last year the school basketball team averaged 30 points per game. 

So far this year they have played 20 games with an average of 31 

points per game. They have one more game to play. How many 

points must they score in this game in order to be equal to or better 

than last year’s average? 
  

 (A) 31 or more (B) 30 or more 

 (C) 20 or more (D) 10 or more 
 

24. 10 cards are numbered from 1 to 10. In a chance experiment one card 

is chosen and its number is read. Which of the following has the 

greatest probability? 
 

 (A) it is a factor of 24 (B) it is an even number 

 (C) it is a multiple of 5  (D) it is less than 4 

 

25 Which of the following has the greatest increase in temperature? 
 

 (A) from 12 to 20  (B) from −2 to 7  

 (C) from −10 to −3 (D) from 12 to 2  

SECTION C 

Each correct answer in this section is worth 4 marks. 
 

26. The diagram shows the floor plan of a small house. It also shows the 

area of some rooms. The bedroom and laundry are square-shaped 

rooms. What is the area of the kitchen? 

   
 

 (A) 16 m
2
 (B) 20 m

2 
(C) 44 m

2
 (D) 60 m

2 

 

 

27. 737 is a 3 digit palindromic number (it is the same number if you 

reverse the digits). How many 3 digit palindromic numbers are 

divisible by 15? 
 

 (A) 1 (B) 2 (C) 3 (D) 4 
 

28.  N stands for a particular whole number, and the following clues are 

given: 

 N is greater than 10 

 When N is divided by 8 there is a remainder of 1 

 When N is divided by 9 there is a remainder of 1 

 The smallest possible value of N is: 
 

 (A) greater than 100 (B) between 70 and 100 

 (C) between 50 and 70 (D) between 11 and 50 

 




